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Note:	 The question paper is divided into three sections A, B and C. 
Write answers as per the given instructions.

{ZX}e :	 ¶h àíZ nÌ "A', "~' Am¡a "g' VrZ IÊS>m| ‘| {d^m{OV h¡& àË¶oH$ 
IÊS> Ho$ {ZX}emZwgma àíZm| Ho$ CÎma Xr{OE&

	 Section - A	 7 × 2 = 14
(Very Short Answer Questions)

Note:	 Answer all questions. As per the nature of the question 
delimit your answer in one word, one sentence or 
maximum up to 30 words. Each question carries 2 marks.

	 IÊS> - "A'
(A{V bKw CÎmar¶ àíZ)

{ZX}e :	 g^r àíZm| Ho$ CÎma Xr{OE& Amn AnZo CÎma H$mo àíZmZwgma EH$ eãX, 
EH$ dm³¶ ¶m A{YH$V‘ 30 eãXm| ‘| n[agr{‘V H$s{OE& àË¶oH$ àíZ 
2 A§H$m| H$m h¡&

1)	 (i)	 What is firmware?

		  ’$‘©do¶a ³¶m h¡?
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	 (ii)	 What is Boot Strap Loader?

		  ~yQ> ñQ´>mn bmoS>a ³¶m h¡?

	 (iii)	 What is the “degree of multiprogramming”?

		  ""‘ëQ>ràmoJ«mq‘J H$s {S>J«r'' ³¶m h¡?

	 (iv)	 Why thread is known as light weight process?

		  W«oS> H$mo bmBQ> doQ> à{H«$¶m Ho$ ê$n ‘| ³¶m| OmZm OmVm h¡?

	 (v)	 Which scheduler selects the jobs from pool of jobs and 

loads into the ready queue?

		  H$m¡Zgm eoS>çyba Om°~ Ho$ nyb ‘| go Om°~ H$m M¶Z Am¡a Cgo aoS>r ³¶y 
‘| bmoS> H$aVm h¡?

	 (vi)	 It is not possible to have to deadlock involving only a 

single process. Why?

		  Ho$db EH$ hr à{H«$¶m go S>oS>bm°H$ g§^d Zht h¡& ³¶m|?

	 (vii)	What is process?

		  àmogog ³¶m h¡?

	 Section - B	 4 × 7 = 28
(Short Answer Questions)

Note:	 Answer any four questions. Each answer should not 
exceed 200 words. Each question carries 7 marks.

IÊS> - ~
(bKw CÎmar¶ àíZ)

{ZX}e :	 {H$Ýht Mma àíZm| Ho$ CÎma Xr{OE& Amn AnZo CÎma H$mo A{YH$V‘ 
200 eãXm| ‘| n[agr{‘V H$s{OE& àË¶oH$ àíZ 7 A§H$m| H$m h¡&
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2)	 Explain the various services that are provided by Operating 

System in brief.

	 Am°naoqQ>J {gñQ>‘ Ûmam àXmZ H$s OmZodmbr {d{^Þ godmAm| H$mo g§{jßV ‘| 
g‘PmE±&

3)	 What is CPU Scheduling? What is CPU bound and I/O bound 

jobs? What are scheduling criteria?

	 grnr¶y {eS>çyqbJ ³¶m h¡? grnr¶y ~mC§S> Am¡a AmB©/Amo~mC§S> Om°~ ³¶m 
h¡? {eS>çyqbJ ‘mZX§S> ³¶m h¢?

4)	 Differentiate between the purpose of using cache memory and 

virtual memory.

	 H¡$e ‘o‘moar Am¡a dMw©Ab ñ‘¥{V H$m Cn¶moJ H$aZo Ho$ CÔoí¶ Ho$ ~rM A§Va 
H$s{OE&

5)	 Explain various memory allocation scheme-first fit, next fit, 

best fit etc.

	 {d{^Þ ñ‘¥{V Amd§Q>Z ¶moOZmAm| H$mo g‘PmE§- ’$ñQ>© {’$Q>, Zo³ñQ> {’$Q>, 
~oñQ> {’$Q> BË¶m{X&

6)	 What do you mean by page replacement algorithm? Why page 

replacement algorithms are used?

	 noO [aßbog‘|Q> EëJmo[aÏ‘ go ³¶m ‘Vb~ h¡? noO [aßbog‘|Q> EëJmo[aÏ‘ 
³¶m| Cn¶moJ {H$¶m OmVm h¡?

7)	 What is thrashing? What is effect of thrashing on system 

performance?

	 W«oqeJ ³¶m h¡? {gñQ>‘ àXe©Z na W«oqeJ H$m ³¶m à^md h¡?
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8)	 Differentiate between logical versus physical address space. 

What is swapping explain.

	 bm°{OH$b ~Zm‘ {’${OH$b ES´>og ñnog Ho$ ~rM A§Va H$s{OE& ñd¡qnJ ³¶m 
h¡& g‘PmBE&

9)	 What is dining philosopher’s problem?

	 S>mBqZJ {’$bmogmo’$a H$s g‘ñ¶m ³¶m h¡?

	 Section - C	 2 × 14 = 28
(Long Answer Questions)

Note:	 Answer any two questions. You have to delimit your each 
answer maximum up to 500 words. Each question carries 
14 marks.

IÊS> - g
(XrK© CÎmar¶ àíZ)

{ZX}e  :	 {H$Ýht Xmo àíZm| Ho$ CÎma Xr{OE& AmnH$mo AnZo CÎma H$mo A{YH$V‘ 
500 eãXm| ‘| n[agr{‘V H$aZm h¡& àË¶oH$ àíZ 14 A§H$m| H$m h¡& 

10)	 Consider the following set of process with the arrival time and 

CPU bust time in milliseconds.

	 {ZåZ goQ> H$s à{H«$¶m na {‘brgoH|$S> ‘| AmJ‘Z Ho$ g‘¶ Am¡a grnr¶y ~ñQ> 
g‘¶ na {dMma H$s{OE&

Process Arrival time CPU Bust Time
P1 0 8
P2 1 4
P3 2 9
P4 3 5
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	� What is average waiting time for processes with the pre-

emptive shortest job first scheduling?

	� BZ à{H«$¶mAm| Ho$ {bE Am¡gV waiting time pre-emptive shortest job 

first scheduling Ho$ gmW ³¶m hmoJm?

11)	 How does pre paging differ from demand paging? How does 

demand paging affect the performance of system?

	 àr noqOJ {S>‘m§S> noqOJ go H¡$go AbJ h¡? {S>‘m§S> noqOJ {gñQ>‘ Ho$ àXe©Z 
H$mo H¡$go à^m{dV H$aVr h¡?

12)	 Explain the architecture of an operating system. Differentiate 

process and program. Also, describe PCB and its contents.

	 Am°naoqQ>J {gñQ>‘ H$s dmñVwH$bm g‘PmE±& àmogog Am¡a àmoJ«m‘ ‘| A§Va H$a| 
VWm nrgr~r Am¡a BgH$s gm‘J«r H$m dU©Z H$a|&

13)	 What is race condition? Explain critical section problem. How 

are semaphores used for solving critical problem? 

	 Race condition ³¶m h¡? critical section g‘ñ¶m g‘PmE±& {g‘’$mg© 
H$m BñVo‘mb critical section g‘ñ¶m H$mo gwbPmZo Ho$ {bE H¡$go {H$¶m 
OmVm h¡?


